Multiplication and Division of Money

A. Choose the correct answer:

1. If one pencil costs X6, what is the cost of 5 pencils?
a) X25 b) X30
c) X36 d) X26

2. A chocolate costs X8. How much will 7 chocolates cost?
a) %48 b) 56
c) 264 d) 272

3. If 4 erasers cost X32, what is the cost of one eraser?
a) %6 b) X7
c) X8 d) 29

4. %45 divided among 5 friends equally gives each friend
a) x5 b) X8
c) X9 d) X7

5. The price of one toy is X25. What will be the cost of 1/2 dozen toys?
a) X100 b) X125
c) X150 d) X75

B. Write the Missing Terms to Complete the Sentences:
1.X10x6=X__
2.%72+8=%______
3.5x%2.50=%
4.%100+4=%
5.%12.75x2=%
C. Mark each sentence with a True (&) or False (X):

1.X5x4=%20
2.%60 +3=X15

3. 6 times X8 is X42




4.%X100+5=%20

5.%12.50 x 2 =%25

D. Figure out the answers to these questions:
1. If 1 ice cream costs X18.50, find the cost of 3 ice creams.
2. A notebook costs X27. What is the total cost of 6 notebooks?
3. A purse is priced at X120. If you buy 4 purses, what is the total cost?
4. Divide X87.60 equally among 4 children. How much does each get?

5. A packet of seeds costs X7.75. What is the cost of 5 such packets?

E. Challenge yourself with these questions:
1. You bought 8 pens, each costing X6.25. What is the total amount paid?
2. Divide X144 equally among 6 friends.
3. Multiply %4 1/2 by 3.
4. A toy costs X45. How much will 2 1/2 toys cost?

5. Divide X27.75 by 3 and write the answer in rupees and paise.




